Tab 1: Television Broadcasting Revenue Estimates

$ millions 2018 2019
Budgeted Estimates _
2018 Actual / Current 2019 estimate _

Variance - TV Broadcasting Revenues vs Budgeted Estimates (73) 83



Tab 4: Current CPE Estimates Under Current Conditions of Licence (Status Quo)

$ millions

Current Estimates

A

O @

IO MmO

Amount required by COL for Canadian programming

Total previous year's revenue

Percent of total previous year's revenue as required by Condition of
Licence

Required Canadian programming expenditures

Canadian program expenditures

Total eligible Canadian program expenditures
Carry forward adjustment from previous year
Total expenditures

Excess / shortfalls to be carried forward

Excess / shortfalls as % of Requirement

Total eligible Canadian program expenditures excess / (shortfall)
Excess / shortfalls as % of Requirement

Formula

=G from PY
=D+E
=F-C
=G/C

Total
2018 2019 2020 2021 2022 2018 - 2022
1,163 1,107 1,129 1,088 1,055 5,542
30% 30% 30% 30% 30% 30%
349 332 339 326 317 1,663
337 328 338 333 327 1,663
- (12) (16) 17 (10) -
337 316 322 316 317 1,663
(12) (16) a7 (10) - -
-3.3% -5.0% -5.0% -3.1% 0.0% 0.0%
(12) 4) (1) 7 10 -
-3.3% -1.5% -0.3% 2.1% 3.2% 0.0%



Tab 5: CPE Estimates Under Proposed Amended Condition of Licence #12(a)

Total
$ millions 2018 2019 2020 2021 2022 2018 - 2022
Current Estimates
Amount required by COL for Canadian programming Formula
A Total previous year's revenue 1,163 1,107 1,129 1,088 1,055 5,542
Percent of total previous year's revenue as required by Condition of
B Licence 30% 30% 30% 30% 30% 30%
C Required Canadian programming expenditures =AxB 349 332 339 326 317 1,663
Canadian program expenditures
D Total eligible Canadian program expenditures 337 328 328 332 338 1,663
E Carry forward adjustment from previous year =G from PY - (12) (16) (27) (212) -
F Total expenditures =D+E 337 316 312 305 317 1,663
G Excess / shortfalls to be carried forward =F-C (12) (16) (27) (21) - -
H Excess / shortfalls as % of Requirement =G/C -3.3% -5.0% -8.0% -6.4% 0.0% 0.0%
| Total eligible Canadian program expenditures excess / (shortfall) =D-C (12) (4) (11) 6 21 -
J  Excess / shortfalls as % of Requirement =|/C -3.3% -1.5% -3.2% 1.8% 6.6% 0.0%

Variance vs Status Quo

D Total eligible Canadian program expenditures - - (10) (1) 11 -
E Carry forward adjustment from previous year - - - (10) (112) -
F Total expenditures - - (10) (112) - -
G Excess / shortfalls to be carried forward - - (10) (11) - -
H Excess / shortfalls as % of Requirement - - (0) (0) - -
| Total eligible Canadian program expenditures excess / (shortfall) - - (10) (1) 11 -

J  Excess / shortfalls as % of Requirement - - (0) (0) 0 -



